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Adding Polynomials
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The sum of two polynomials is

12m? + 2m + 4.
One polynomial is 4 — 6m + 8.
What is the other polynomial?

Explain how you found your answer.
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Create a polynomial that is added to
3x? + 7x + 2 to get each sum.
252+ 10x+1  b) 22+ 5x+8
o 42 +3x 9 - +x—1
©2c+3 N4
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a) What polynomial must be added to
5x% + 3x — 1 to obtain a sum of 07
Justify your answer.

b) How are the coefficients of the two
polynomials related?
‘Will this relationship be true for all
polynomials with a sum of 0? Explain.
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‘Subtract.
a) (r2 — 3rs + 5s%) — (—2r% — 3rs — 5s%)
b) (—3m? + 4mn — n?) — (5m* + 7mn + 2n?
o (5cd + 8¢ — 7d%) — (3d* + 6cd — 4c?)
d) (9e + 9f — 3¢ + 4f%) —
(—f% — 2¢? + 3f — 6e)
) (4jk — 7j — 2k + k?) — (2% + 3j — jk)
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' The difference of two polynomials is
3x? + 4x — 7.
One polynomial is —8x2 + 5x — 4.
a) What is the other polynomial?
b) Why are there two possible answers to
part a?
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The polynomial 4n + 2500 represents the

cost, in dollars, to produce 7 copies of a

magazine in colour. The polynomial

2n + 2100 represents the cost, in dollars, to

produce 1 copies of the magazine in

black-and-white.

a) Write a polynomial for the difference in
the costs of the two types of magazines.

b) Suppose the company wants to print
3000 magazines. How much more does it
cost to produce the magazine in colour
instead of black-and-white?
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The diagram shows one rectangle inside
another rectangle. What is the difference in
the perimeters of the rectangles?
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"Just a darn minute — yesterday
you said that X equals twol*
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a) For each shape below, write the
perimeter:
+ as a sum of polynomials
+ in simplest form

i)

n+5
2n+1
2n+5

i) 7r+2

=1

6t+5
2t+1

b
iv)

f+2

3f+1
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Add.

a) (32 = 22 + xy) + (—2xy — 27 — 3%)
b) (=5¢* +3p =29+ p?) + (4p + 9 + pg)
9 (3mn + nm? — 3n? + 5m) + (7n* — 8n + 10)
d) (3—8f+5g—f2) + (28 — 3f +4g—5)
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The perimeter of each polygon is given.
Determine each unknown length.
a) 6w + 14

2w+3

2w+3
b)7s +7

3s+2

3s+2
0 10p+8








